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tITTtE BEAR RIVER DISTRIBUTION SYSTEM

+PIIf L963 WATER ASSESS}fdM ]'EX.F

$ 1r39o.oo

BASIS OF ASSESSMENT:

It is to be noted that the Commissionerrs Annua1 Report for L962
did not list the acre-feet of water as being delivered to each of the
assessed accounts, therefore, the State Engineer has deterrnined to
use the five-year data used for the 1962 assessments. AIso, $ tr39O.0O
is the 1963 Total Assnssment.

ACRE-FEET OF WATER DELTVERED:

Total Delivery !961 311539.66
Total Delivery (:-g9l-Iq,el-) 20L,)+hl+.h6
Total Average Delivery (51-0t1 l+Or8BB.89

CALCTILATTON OF THE 1963 ASSESSI,IEITIT:

The first problem is to determine the minfunum $ 2.00 users and
the naximum amount or less acre-foot delivery to such users. $ fr390.00
divided by horBB8.89 acre-feet of rater equals $ 0.033991+5gAO which is
the overalL factor in such determination. Therefore, $ 2.00 divided by
$ 0.033991$gAS equals 5B.BL acre-feet r.rater or less as the minimum of
water to be assessed in determining such assessment.

There are seven such minimum users whose total- l-year average deI-
ivrry of water is 216.7I acre-feet, which is subtracted from the
J+OrBBB.89 acre-feet leaving'lJo167Z.18 A/ft of water to be assessed
against al-I other userso

A

Less
$ 1139o.oo equals l+or8B8.89 Acre-feet (-llt users)

1l+.o0 equals 2I6.7L Acre-feet (uin $ 2.00 users)
Lr376.oo equals l$1672.18 Acre-feet (neeu]'ar users)

$ 113?6.00 divided by )+01672.18 acre-feet equals $
of one S-year average acre-foot of water for Regul0r use

PROOF:

I+o167z.18 A/Ft times $
216.7I t/vt o* 7 tlmes

l+orBBB.89 A/Fr equals

o.o3383ilt?90 equals
$ 2.00 equals

$ tr375.oo
lL.00

S 11390'00


